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* This measure is written as “Past three years:
During the period starting the 1st day of the 36th
month prior to study interval beginning date
extending to last day of the month under study”
so do not use the standard one month = 30
days rule.

HPVTEST (PI)

During the timeframe from (computer to

display papdt — 4 days to papdt + 4 days),

does the medical record document a

cervical human papillomavirus (HPV) test

was performed for this patient?

1. HPV test performed by VHA

3. HPV test performed by private sector
provider

99. No documentation HPV test performed

HPVTSTDT (Pl)
Enter the date of the most recent cervical
HPV test performed.

NOCASCRN (PI)

During the past five years, did the patient’s

primary care physician/APN/PA document

that he/she does not believe that this patient
will experience a net-benefit from cancer
screening, because of one or both of the
following:

-- Patient’s life expectancy is < 5 years
because of diagnoses or clinical factors (as
specified in the progress note)

-- Patient could not tolerate the further work-
up or treatment (if the screen was positive)
because of co-morbidities (as specified in
the progress note)

1. Yes

2. No

EXCLUDED 1

PAPDT (PI)

Enter the collection date of the most
recent Pap test performed during the
past five years.

99

Missing
or
Invalid

Missing or

MDE Invalid

STDYBEG (rcvd on pull list)
Study Interval begin date

TESTPAP

PAPDT

Valid Date

Valid Date

98

<= 36
Months*

PASS

Calculate
STDYBEG - PAPDT

> 60
months*

99

A

NOCASCRN

MDE

Missing

> 36 and <= 60 months

1,3

Valid Date

Missing

Missing
or Invalid

n Denominator and
Numerator
(passes indicator)

>= -4
and <= 4—

Calculate
PAPDT - HPVTSTDT

<-4
[ or>4

In Denominator only
(fails indicator)

20f2



	P43h.vsd
	Pg 1
	Pg 2


